
ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เปอร์เซ็นตข์องตัวเลข ( ตัวเลขขาดหายไป )

________ × 20% = 19.6 ________ × 40% = 29.2

________ × 50% = 49 ________ × 10% = 3.2

________ × 80% = 14.4 ________ × 30% = 18.6

________ × 30% = 15.6 ________ × 10% = 0.9

________ × 30% = 18.9 ________ × 90% = 34.2

________ × 70% = 20.3 ________ × 40% = 32.4

________ × 80% = 36.8 ________ × 80% = 30.4

________ × 20% = 13.6 ________ × 10% = 5.6

________ × 90% = 32.4 ________ × 60% = 37.8

________ × 80% = 80 ________ × 20% = 4.6
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ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เปอร์เซ็นตข์องตัวเลข ( ตัวเลขขาดหายไป )

98 × 20% = 19.6 73 × 40% = 29.2

98 × 50% = 49 32 × 10% = 3.2

18 × 80% = 14.4 62 × 30% = 18.6

52 × 30% = 15.6 9 × 10% = 0.9

63 × 30% = 18.9 38 × 90% = 34.2

29 × 70% = 20.3 81 × 40% = 32.4

46 × 80% = 36.8 38 × 80% = 30.4

68 × 20% = 13.6 56 × 10% = 5.6

36 × 90% = 32.4 63 × 60% = 37.8

100 × 80% = 80 23 × 20% = 4.6

www.snowmath.com


